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QUESTION 1

Given the following decision table:

Rule 1 Rule 2 Rule 3 Rule 4
Conditions
Age =21 yrs 21-29 yrs a0 —50yrs =50 yrs
Insurance Class A, Aar B B, CorD CorD
Actions
Pramiun £100 £30 £70 =7
Excess £2 500 £2 500 £500 £°000

Which of the following test cases and expected results is VALID?

A. 23 year old in insurance class A Premium is ?0 and excess is ?,500.
B. 51 year old in insurance class C Premium is ?0 and excess is ?00.
C. 31 year old in insurance class B Premium is ?0 and excess is ?,500.
D. 43 year old in insurance class C Premium is ?0 and excess is ?,000

Correct Answer: A

QUESTION 2

Which of the following statements about functional testing is correct?
A. Functional test cases are derived from specifications

B. Functional test cases are derived from an examination of the code
C. Functional testing ensures error free software

D. Functional testing should be done before the Inspection process

Correct Answer: A

QUESTION 3
The digital ainbow Thermometer uses 7 colours to show the ambient temperature. Each colour spans a range of just 5,

with an operating minimum and maximum of minus 5 and 30. Which of the following values is minimum and maximum
of minus 5? and 30?. Which of the following values is LEAST likely to have been identified when applying the boundary
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value test design technique?
A. 30307

B. 00?

C.878

D. 15 157

Correct Answer: C

QUESTION 4

Which of the following are characteristics of good testing in any life cycle model?
a) Every development activity has a corresponding test activity.

b) Testers review development documents early.

c) There are separate levels for component and system integration test.
d) Each test level has objectives specific to that level.

e) Each test level is based on the same test basis.

A.a,dande

B.b,cande

C.a,candd

D.a,bandd

Correct Answer: D

QUESTION 5

For which of the following is Impact Analysis ESPECIALLY important?
A. Maintenance Testing

B. Unit Testing

C. System Testing

D. User Acceptance Testing

Correct Answer: A
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